
 

(DBC 23) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Second Year) 

Part - II : COMMERCE 

Paper - II : Quantitative Techniques - II 

Time : 3 Hours  Maximum Marks : 80 
     

Section - A 

Answer any four of the following 

D {Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$ 

1) Importance of Index numbers. 

 C…yðþMŠüÞ çÜ…QÅË {´ëÐèþ$$QÅ™èþ. 

2)  Decomposition of time series. 

 yîþMæü…´ùhçÙ¯Œþ B‹œ OsñýÐŒþ$ ïÜÈ‹Ü (çÜÐèþ$Äæý$ {Ôóý×ìý ÑÄñý*VæüÐèþ$$). 

3)  Graphic method. 

 {V>íœMŠü Ñ«§é¯èþÐèþ$$. 

4)  Discrete variable. 

 yìþ{ïÜPsŒý ÐóþÇÄæý$º$ÌŒý (ÑÐèþMæü¢ ^èþÆæÿÆ>íÜ). 

5) Normal distribution. 

 ¯éÆæÿÃÌŒý yìþ[íÜtº*ÅçÙ¯Œþ (Ýë«§éÆæÿ×ý ç³…í³×îý). 

6) Time reversal test. 

 OsñýÐŒþ$ ÇÐèþÆæÿÞÌŒý sñý‹Üt. 

7) Conditional probability. 

 Mæü…yîþçÙ¯èþÌŒý {´ëº¼Ísîý (°Äæý$™èþ çÜ…¿êÐèþÅ™èþ). 

8) Differentiation. 

 yìþçœÆðÿ±ÞÄôý$çÙ¯Œþ (Ñ¿æýf±MæüÆæÿ×ý). 



 

Section - B 
Answer any two of the following 

D {Mìü…¨ ÐésìýÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$ 

9) From the following data calculate Index numbers through Paasche’s method. 

     2009 2010 

 Commodity Price  Quantity Price  Quantity 

    A 20 80 15 79 

     B 18 60 17 120 

     C 24 70 20 50 

     D 32 30 18 30 

       E   47 10 19 45 

       F   30 20 16 38 

  

 D {Mìü…§æþ CÐèþÓºyìþ¯èþ yésê è̄þ$…yìþ, ´ëÔðýa‹Ü Ñ«§é¯èþÐèþ$$ §éÓÆ> C…yðþMŠüÞ çÜ…QÅË¯èþ$ ÌñýMìüP…ç³#Ðèþ$$. 

     2009  2010 

  çÜÆæÿ$Mæü$ « §æþÆæÿ ç³ÇÐèþ*×ýÐèþ$$ «§æþÆæÿ  ç³ÇÐèþ*×ýÐèþ$$   

   G  20  80 15 79 

   ¼  18 60 17 120 

   íÜ  24 70 20 50 

   yìþ  32 30 18 30 

   C  47 10 19 45 

   G‹œ  30 20 16 38 
 

10) Let x be a binomial of B(2, P) and let y be B(4, P) if 
5

P( 1)
9

x³ =  then find P( 1)y ³ .  

 x A¯èþ$¯èþ¨ B(2, P) Äñý$$MæüP ¨Óç³§æþ… (binomial) AÆÿ$$ E…yìþ, y A¯èþ$¯èþ¨ B(4, P) V> E…yìþ, 
5

P( 1)
9

x³ =
 

AÆÿ$$ è̄þrÏÆÿ$$™óþ, Aç³šyæþ$ P( 1)y ³ ¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

 

11) Solve the following LPP using Simplex method? 

 Max z = 20x1 + 80x2 

 Subject to 

 

1 2

1 2

1 2

4 6 90

8 6 100

& 0

x x

x x

x x

+ £

+ £

³

 



 

 çÜ*Mæü‡ Ñ«§é¯èþÐèþ$$¯èþ$ Eç³Äñý*WçÜ*¢ D {Mìü…¨ LPP ° ç³ÇçÙPÇ… è̂þ$Ðèþ$$. 

 Max z = 20x1 + 80x2 

 Subject to 

  

1 2

1 2

1 2

4 6 90

8 6 100

& 0

x x

x x

x x

+ £

+ £

³
 

12) Find 
dy

dx
 if 

2 7
(3 4 8)y x x+= + . 

 Mæü¯èþ$Vö¯èþ$Ðèþ$$ 
dy

dx  
if

2 7
(3 4 8)y x x+= + .

 

Section - C 

Answer any three of the following 

D {Mìü…¨ ÐésìýÌZ H Ðèþ$*yæþ$ {ç³Ôèý²ËOMðü¯é çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$. 
 

13) a) Evaluate 
10

(3 9)x dx+ò . 

 b) Evaluate 
9

(2 9)x dx+ò .
 

 
G) ÑÔóýÏíÙ…^èþ$Ðèþ$$ 10

(3 9)x dx+ò . 

 ¼) ÑÔóýÏíÙ…^èþ$Ðèþ$$ 9
(2 9)x dx+ò .

 

 

14) Fit a straight line trend. 

 Year  2001 2002 2003 2004 2005 

 Sales  5 10  15 20  25 

 JMæü çÜÆæÿâæý ÆóÿQ «§øÆæÿ×ìý° HÆ>µr$ ó̂þÄæý$$Ðèþ$$. 

 çÜ…Ðèþ™èþÞÆæÿÐèþ$$ 2001 2002 2003 2004 2005 

 Ñ{MæüÄæý*Ë$ 5 10  15 20  25 

 

15) Find the maximum & minimum values x
4 
– 3x

3
 + 2x

2 
+ 7. 

 

 VæüÇçÙt Ðèþ$ÇÄæý$$ Mæü°çÙt ÑË$ÐèþË¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$ x4 
– 3x

3
 + 2x

2 
+ 7. 

16) If y is B
1

,
3

n
æ ö

÷ç ÷ç ÷çè ø
 find n for which P( 1) 0.8y ³ ³ . 

 y A¯èþ$¯èþ¨ B
1

,
3

n
æ ö

÷ç ÷ç ÷çè ø
AÆÿ$$ è̄þç³šyæþ$, P( 1) 0.8y ³ ³ AÆÿ$$™óþ AÐèþ#™èþ$…¨, Asìýt n ¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 



 

17) Solve the following by using graphical method. 

 Max z = 10x1 + 3x2 

 Subject to  

        

1 2

1 2

1 2

2 3 18

6 5 60

& 0

x x

x x

x x

+ £

+ ³

³
 

 {V>íœMæüÌŒý (ÆóÿRê_{™èþÐèþ$$) ç³§æþ®†° Eç³Äñý*W…_ D {Mìü…¨ Ðésìý° Ýë«̈ …^èþ$Ðèþ$$. 

 Max z = 10x1 + 3x2 

 Subject to  

        

1 2

1 2

1 2

2 3 18

6 5 60

& 0

x x

x x

x x

+ £

+ ³

³
 

18) Calculate Fisher’s ideal index number. 

 Commodity Base year Current year 

    Price  Quantity Price  Quantity 

   A 6 50 21 96 

  B  2 120 4 146 

  C  4 70 8 80 

  D  10 80 16 48 

  E  4 90 7 140 

 Ðèþ$™èþÞüÅM>Ææÿ$° Äñý$$MæüP B§æþÆæÿØ C…yðþMŠüÞ çÜ…QÅ¯èþ$ Mæü¯èþ$Vö¯èþ$Ðèþ$$. 

     çÜÆæÿ$Mæü$  B«§éÆæÿ çÜ…Ðèþ™èþÞÆæÿÐèþ$$ {ç³çÜ$¢™èþ çÜ…Ðèþ™èþÞÆæÿÐèþ$$ 

    «§æþÆæÿ  ç³ÇÐèþ*×ýÐèþ$$ «§æþÆæÿ ç³ÇÐèþ*×ýÐèþ$$ 

    G 6 50 21 96 

   ¼  2 120 4 146 

   íÜ  4 70 8 80 

   yìþ  10 80 16 48 

   C  4 90 7 140
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